
II.

2001-484
M5x20 Hf bkny csavar

1

45600-055

8400-238A

29900-250

Product.: Lang

1. Seite
Belső használatra !

188700-212

I.

2001-017

5025-003A

M5x8 Sf csavar

M5x6 Bkny hernyócsavar
2001-015

3

I.

6536-01519

II.

R3602 Joran



Product.: Lang

2. Seite
Belső használatra !

75633-029B

11

10

1982-001

1982-011

2003-020

2001-042
M6 Íves rugós alátét

M6x16 Df csavar

2001-015
 M5x6 Bkny
hernyócsavar

65611-050

9 5311-463

101982-011

125540-230

5611-049 5

M8 Alátét
2003-008

M8 Hl Anya
2002-007

11 1982-001

111982-001

13 6611-004A

89900-1474

2001-318
M4x8 Df csavar

M5 Acél alátét
2003-003

2002-003
M5 Hl anya

R3602 Joran



Product.: Lang

3. Seite
Belső használatra !

16 6081-701A

14146081-699

15

15 6081-700A

175490-020A

Feuerraumauskleidung
(9900-892A)

6081-699            2 Stück
6081-700A         2 Stück
6081-701A         1 Stück

1. 6.
Reihenfolge:

Lage des Feuerablenkrahmen

1.

5.

3. 6.

4.

2.

6081-699

6081-700A

R3602 Joran


